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e sin cos tan

34° 0.5592 0.8290 0.6745

35° 0,5736 0.8192 0.7002

36° 0.5878 0.8090 0.7265

@ (1) x=34°, y=0.8290 (2) 36.225
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25° 0.42 0.90 0.46
50° 0.76 0.64 1.19
70° 0.93 0.34 2,74
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@ sin60° = cos 30° = 2
® cos0° =1, cos90° =0

@ tan0° =0, tan45° =1
3 tan 60° = 2sin 60°



20. theTt Zo] ADLBC 2 417+ ABC
7 Qlet. x, yo) Aol 747} ntel

712
@x:5,y:\/§ @x:5,y:2\/§
® x=6,y=1V3 @ x=6, y=2V3

® x:6,y:3\/§



21. sin30°sin60° + cos 30° cos 60° + cos 45° sin 45° 2] Zk-&9

1+ 3 @1+2«/§ ®1+\/§

o 4

@

2 2
1+ V3 @1+2\/§
4 9




22,

<]

o
lil




23. AAAY 712X AL E Ut E FAE = S8 A 22t =3 A2 9]
H-gof oJsf] ZAH ) of2 F FAE S 7P BAZE A2 A2

@ sinA @ cosA @ tan A

1 1

sin A © cos A







25. 717+ ABC ©)4 AB = Scm _4/3em-
BC = 4v3cm ¥ 0, /B o] 27|=9 - <

O 15° @ 30° @ 45°
@ 60° ® 75°




26. /C 7t A7 A 7447ty ABC o4 AB =2, BC =132 &

(sin B+ cos B) (sinA — 1) 9] g7

®‘¥ @_1+4\/§ @_1+4*/§
1+2v3 33




e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
® 1.022 @ 6.947 ® 7.071

@ 9567 ®3 10.355
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@ sin®30° + cos?60° =1
O sin30° = cos30° x tan 30°
© sin30° 4+ sin60° = sin90°
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44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0,7193 0.6947 1,0355

D 246 ® 967 3 1760 @ 92462 ® 3240
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T sin © cos tan z
49° 0.66 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0,97

@ 33cm? @ 37cm? ® 45cm?

@ 72 cm?2 B 90 cm?2



